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@entifying Graphg

Choose the correct graph that best describes the solution for each inequality.

1N |—x]| >12 2) x| <1
a) —H—+—++="+++o+—+++> a) —H—+—+—+—+—+—+4¢1o++—+1>
36 -24 12 0 12 24 36 -8 -6 -4 -2 0 2 4
b) “+—+—+—+—4+++—tot+—++-+> by <«+—+—4+—+—+"t"4——4—+—++—>
36 -24 12 0 12 24 36 8 6 4 -2 0 2 4
o Attt 0
-36 -24 12 0 12 24 36 8 6 4 2 0 2 4
d) No solution d) ¢—+—+—+—+—+—+—+—++—41+++>
-8 -6 4 -2 0 2 4
3) |x| =7
At te P V O o e e e
a) -28 -14 0 RE IEW _g 18 27 36 g
R R e 4 O e e e
b) 28 <140 _<9> 18 27 36
o <«++++—+] Gain complete access to the largest B+
28 <140 . . . 9o 18 27 36
0 < collection of worksheets in all subjects!
) -28 -14 0
5) |-x| < 20 Not 3 member
Pl
2) oesign tptolill INENENEN
60 40 -20 dain Comp]e-(-e 3.6 9 1215 18 21
b) <_|_|_|_|_+_|' aCCESS. o>
-60 -40 -20 3 6 9 1215 18 21
o €H+—++—++ Fo—+—+—+—++—>
-60 -40 -20 3 6 9 1215 18 21
4 N uti www.mathworksheets4kids.com Do
) O solution g ‘g |9 1|2 1|5 1|8 2I1 7
7 x| <15
a) €«+H—+—+—++++-++ a) <—+—+—+—+—+—4"1¢4+—++—++>
-30-25-20-15-10 -5 0 5 10 15 20 25 30 -66 -44 -22 0 22 44 66
b) 1 b)
-30-25-20-15-10 -5 0 5 10 15 20 25 30 -66 -44 -22 0 22 44 66
o) R ¢ —H—+—+—+—+—-+++++++1>
-30-25-20-15-10 -5 0 5 10 15 20 25 30 ‘-66 -44 -22 0 22 44 66
d) > d) No solution
-30-25-20-15-10 -5 0 5 10 15 20 25 30
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